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Worksheet

I QBJQ:;CI}‘Q'?QL‘{ F‘lﬁd '%c,.
NV
D, 3 3 32D

Orf Geometric 'we are unable o
determine £, (NOT POSSTRAEQ)

:Since +Hys Sequence 'S not ﬂri+hme+t'c






\)_,71\...3-\.___:1
X-2 X-2 X-2,

:tn:'_ “E Y h:'lh
ty,= 20202
ti2=20C2)
{JIQ_": 2}(“2@’4 g)
t19= “NOGG



L “},‘8,\(0)32,)_ .
AN A
X2 X2 X L

tn= J‘:l_r n-1t
ta= 4 ()™
aince =512,
S5l = ’-{(Q))n-l
S5l = (_ Py
L A
! %;? = 22:?\--]
= n-|
T+l = n
=N



5. 1492 CNO N, i

I 2" n—|
(Iowcs+(o__l_ = __L>
*H’:rms) M 2 ~HL =
ced fo make the "bases'the san
B (L
Since the bc»ses are New equal ¢
6= n-lI

btl=n

|7=n |







We need 1o make Jr\'Lci boses ﬂ@, same?

(_I_) (_[_)n f
Since Hl‘? bases” ave Now c-:cC,Lal
o= n-lI

otl=
”7'—"'n






	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8

